UM4IGITCX

ISU2U

ISUZU MOTORS ENGINE SALES INC.




891

79 386 455.5. 4245
1165.5
(Ibf=ft) (N-m) Configuration 4-cylinder, vertical in-line, 4-cycle deisel engine
Bore x Stroke mm (in} 954 x 107 (3.75 x 421)
3004 400 Full load torque Displacement Lit. feid) | 3.059 (186)
Medium duty 94 (128) / 3100
L 250 —-\ Rated output kWI(PS)/min ' - t
S 300 Light duty | 101 (138) / 3200
E Application Commercial use
1504 200 Governor type Mechanical
Combustion type Direct injection
1800 2000 2200 2400 2600 2800 3000 3200 3400 Aspiration Turbo chargered / Intercooler
-t Engi 324 (714
(HP) (kW) ENGINE SPEED (min”) Engine weight kg (Ib) ngine | (714)
160120 with MGN30A | 450 (992)
f10 Fuel used | Diesel fuel
140 Full load curve Starter V-kW | 24-32
r100 Alternator VA 24-30
12090 Lubrication method Full flow pressure circulation
80 Cooling method Freshwater, full flow pressure circulation
S 100+ (Seawater, indirect)
70 (L/h) (US.gal/h)
304 Heat exchanger (seawater circulation) Multi-tube type (freshwater—seawater)
g 8060 Propulsion curve L7 Intercoocler Mutlti tube type (seawater circulation)
= 254 | | ! ;
= k50 .6 8 L = - Crankshaft Right (clockwise) viewed from front of engine
i Rotation direction +
2 60 6 20—_5 E Propeller shaft Right (clockwise) viewed from stern
1544 3 Idling speed min! 500~-550
40790 I Marine Gear Model MGN30A
Fuel consumption on 10{" O . ic type
20 "
201 Propulsion curve -2 g Marine gear Clutch type | Wet, Multi-plate hydraulic
L1o 54 5 =1 Reverse type Constant-mesh type gear
L1 @ }
Reduction ratio 204,252 305, 344
00 L i 1 I I I i i 0--0 )
Specifications subject to change without notice
1800 2000 2200 2400 2600 2800 3000 3200 3400
ENGINE SPEED (min™)
Standart.cissiiinnerins 7 >

* Installation kit
+ Kingston valve

- Control head

- Bilge pump

» Tool kit

- Owner's manual

- Battery relay * Instrument panel

+ Extension harness (3m)
- Seawater pump impeller *

* spare parts

ORI ON bR it

» Extension harness (3m)
- Control cable (4m,6m,10m,12m)
+ Stop cable (4m,Bm,8m)

ISUZU MOTORS ENGINE SALES INC.

http://lwww.isuzumarine.co.jp

©2013 1SUZU MOTORS ENGINE SALES INC.All right reserved.




[SUZU UM4JGITCX DIESEL ENGINE

GEAR LESS
240 240 5
CRANK_CENTER 240 240 o A —— —
NK
ﬁjﬂ E\ o CHANK CENTER 671 (WIDTH) i
S —5 345 326
o | o) A — me
ot e = SEA WATER QUTLET
! = 131 — - - - - - 83
oy o BB
[e}] » Xl NN
i & -
\ [ 0 4-$20
~ 5. 210 210 |5 P
1100166 VIEW B - S = - =
16 || 199 [113[102 o //
VIEW A 2 50 50
AR A o - © 219.5 4555 386 ‘
- : S © ENGINE MOUNTING
—— N ‘\ o
E ! . TN . JER 5 . PT2
1_ o)l ol f--— = I
= x| ~ 'y - Y ¥
RS Ih S 2 o FUEL INLET PIPE FUEL QUTLET PIPE EXHAUST OUTLET
| ’ g DETAIL DETAIL DETATL
e - o)} ; S —
© : & ‘500@6@0 B-MBx1 .25 P N
g rensrHl )P [ 2 5.
5 | = ¢ ﬁ < 3
& , - | oY |
— 8-M10x1.5 DEEP18 88108 -
G-M10x1.5 DEEP18 210 210 X SEA WATER INLET PIPE
- f2-M10x1.5 DEEP18 DETAIL
£-218 . CRANK PULLEY DETATL
OIL FILTER HEATER RETURN PT1/2
[ MHEATER TAKE OUT PT1/2 FUEL _QUTLET FUEL _FILTER
L i IR | x
$ | _ _- _/_/ ; r
=il ; i/ FUEL INLET L e 7R85
—e— . | S _
e } %J \ I o J( o '%,
- T a1t %) E: e} N = 1HR=N :
% = K I ® == - I & : 62 ™
= . | = = = 060) T
w 0 S h o T
RS = M o O ® _l,ﬁ%—- ST LT - £l
5L Shadllly ) L Sl . Sl ML g5
! R O NE e 3l
dgy B O U =H N5
y ’ 1, @ i L jm
=t i kil —] i
— 12 Wal "T%i % ! \_“_:&'wrw L i U=
aJ W i
LG \ iy e
~ /\ )| B 48
A SEA WATER
100/ 88| 219.5 |53 INLET
240 240 245 455 .5
480 810 (LENGTH) AN
550 43 T11-1-27




ISUZU UM4JGITCX DIESEL

240 240
CRANK_ CEHNTER 240 240
T CRANK CHNTER
- 3
‘;y — O _ I — -
¥ g; l :1
Ty |
o) @ o
@
!’ Q|
4.5| 208.5 209.5 | 4.5
L1001 88 VIEW B
16 || 199 1131102 -
VIEW A B
- -
@,
S EEI:L _
5 m=2N
0 &
Tf T T = :
= = i g |
. —i[1 | [] &3 A |
o R EE%? ST :
4 s N Sis
NP4 o y
$32 Q%é -
534 4-818
32 \\EXHAUST OUTLET P12
0IL FILTER
SEA WATER o — =
OUTLET ¢32
O
= I
I HiY
W 9 | %
I AK%EJ M '
% = ;JE?%S — \ N
~ TRl ﬁiﬂ_?i— Oll
D]
o 5 |
ra iy
4 I = 3 [
192
1061

574 (WIDTH)

345

326

ENGINE

MENSQA=2 ! & _ _ & l
‘-ﬁ ole|o
— — — — - ||
| ~ |~ 0]
=5
4-$20
50 50
219.5 455.5 386
ENGINE MOUNTING
©
o
a e 3 ol 5

(@]
~i
=3

i
3 0 0 by
3 ] 3 ' ]
: e = e ==
v, =N
NG = FUEL INLET PIPE  FUEL OUTLET PIPE  SEA WATER INLETPIPE,
3 -y | DETAIL DETAIL SEA WATER OUTLETPIPE DETAIL
N & 6-M8x1.25 6-412.2 88
Nt Ql 6’10 12 | ®
S~ / I Vi
u ——yy o - (go.?i) 9 |8
+] Y s? 2 -
130 | 130 9 ; )
N
240 240 &
=5 & CRANK PULLEY DETAIL HALF COUPLING DETAIL
HEATER RETUBN PT1/2 PT2
HEATER TAKE OUT PT4/2N FUEL OUTLET FUEL FILTER
. : 1 {
7 i
FUEL INLET$10 L —n , i\ EXHAUST OQUTLET
== b 1l
I = = DETAIL
Ql o VA =
o] D H
© i *
(] JG | I ]
000 4
| : M ; /F
e
d A1 1&
L%_ < LB Lo :Iﬂ ‘%l
3 e T TR I
A & i o
il
. BN | H
M Eu— T
U
219.5 53 SEA_WATER TN FTe32 43 30
240 240 245 465.5 386 79
35 480 35 1165.5 (LENGTH
550

"11-1-27



